SORUTTONS => ERUATIONS oF CTRCLES /ELLTPSES

F@vrﬁﬁ@
1 yeef
@) r=6 b) r=1{5
L XY= ()" l—>r‘x2'* g*= (5)?
'xll‘fUt: "36 rxlftj.l: 5
) r=4i7 d) r=3J2
Ly %%+ = (447)* Xyt = (Al2)*
’X“i—s = (1)CT) x>+ Bji(Q)(Z)

')(11—3‘:“2; -7(*1-5*-18‘



2 AL X'+ y*= gl

a) radxius b) O(-xn'!-ert_epf-s‘ c‘_) tj-anﬁme\:nts
L =8| Ly -9 and +9 -9 and 9
F=NB1
r=9 units
d) domain e) range

ix\-9<x<q aer} 191 <¥<9,yerf



2. B2 ‘X"-l—tjz:‘-l‘g
a) radius b) A-irtercepts

Ly r2=4E L -443 and 443
g J_':llﬁ . 7 "
r= 16\!35
r= 43 units
C) y-intercepts d) domain
tL—'-lhl?:-' agd i3 | |
1% =3 = 4l3 eR)
€) T‘Qnﬁﬁ’-

Lyl-NS=y< N3, yerg



3. X'+ 3°‘=25

a) (N, ?)
TF x=-N"
(4)*+y*=25 (Coordinate =>(-4,3)
1o + =95 or
% - 3516 (-4,3)



b) %%+ 3‘=1’3
(2,3
TF g=3°

A*+(3)*=25
x*+9 =25
5..

i+ 1+=QO
| 5

M 32
Pk

I

2 R
non

Ceordinate s Y ) 3)
oY
C4,3)



@crdwt:d‘c o (530)



d) (213

T x=2{3¢

(23)*+y*= 95

H)B)+ &*=95 @ordtmer(QE)ﬁ)
2+ 2850

5@@ GNTER [DUMATN Ranee X-INTERCEPTS| Y- INTRRKPTS
Ay -q (0,0) BxlB<x<3,xeR} {yl-3¢ys3, 36&3‘ -3and3 [-3and3
AHy*=36 [(0,0) [pxleexse,%ERT {y)- 555%,359_} -and & ‘_"_E_":‘,Qdé .
*?(i+8‘=l2| (0,0) {-xl-nﬁxﬁu,xg_g} {31 eyl 9ER}I H Gnd II " __I_I_ETJL.__




5 a) passIng +hr0u3h (2,-M)
L‘; T‘F xX=2 and 3?‘4 ?

= r-?.

(,9_) +? 4)*=r=2

H+ e =r?*
O0=r?2

'->'TF:@r‘€F0rE, the equation would be:

AX¥ry? = r2
A0 = DO



b) passing through CHE, N 2)
L F %= 445 and 3=ng
Ay yr=vr2
M5+ {2)*=r?
de)B5)+ 2 =r*

B8O+2=1r"
82=r2

L T)Ir@rEFGfE ,the eqduahbn wou ld be &

'X"'I'B"‘: 2z
X4 Ld‘=89_



) wWith an %~ |n+€\"{_ﬁ:d' of-12%¢
l_> FPoint ( ‘Q.Q)

F_L)F X ==12 Q’ﬁd 8'50(}

=
Aoy D SS=r
i el

jd4 ==

Ls TV herefore, the equation would be <

R+ gr=r
RS 3"‘- 44
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©. ) x*+ LSCH)*—QH

(X-0)*+=Cy-4)* = &4
Goter (O, M)
‘{detus (:; I"‘i "“'
r= RTL:
=% unit+s
b) (X+2)*+ 2=u

(X +2)2+ ¢ -l—O)z
G:w\-er (-2,0)

%-xdsus o



) (X+1)*+ (y-1D*=100

(enter (=1,11)
delLiS(. r" _lC)O
= 10O

\'"‘ IO umits
d) (“'“‘6)1+(3-3)2'=14q
(enter (16,3)
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a
Q) CGLe); r=N7

(X-h)*+ (y-K)2=
K== 1)  + ( (o)“ (r)
A+11)* d- =
b) C(0,3) ;
(x—h)? +( )
(-o>+c3j e 5y
xX* + ( =95

c) C(H,-4): =13

’X‘hg K)*=r=
+&§-L+>*= (13)*

(’X -H)* +4)* = 19

13



d) CC-9,4); r=2

X+9)* + 14)* =

(X-H)+ (y-K)*=r>
xX=9)* + &H)“

(2)*
o

14



8.0) C(2,72) and passing through J(8&,4)

ﬁlm—hod 1
D= G+ (grg*
J(8-2)% (4=2)?

J (e:)‘-“rgb)"

F—
= 63—
r=el2 ; C(2-2)

%-h ’-+( K)*=r*
& zi &

G2

no

)

ﬂh‘i*‘hod 2

C (1,—2) J(%,4)
x4

(%-h)*+(
(8-2)*+ (:\ﬂ %
(G;.)‘+ (6)"— ri
A6+ A =

2 = lr2

(x=h)*+(y-K)=r*
(%-2)*+( —1) 12
0 o N e 1—(5*2 =12

2)*= (({2)3
§f 2))'* = (36)('2J
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b) ¢(10,0) and Passing Fhcough K(i,-3)

ﬁlefhcd 4%
®= J('X:."'-x I)1'+ (3 :."‘8 1)1

= (=10 + (3 -0)°
- \, -G e

(TLe:t-hod 2¢

ctio, KU,-3
h K XY

-h)+Cy-K)=r?
(]--.C;)L+éi 0)'=r*
CNDF D) =r2
SIl+49 =r*

el

%'x—h)“r (y-K)=t?

%x-10)+ (G-0)=90
xX-10)%+ =90
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Ya) ¥*+y*-12y-5=0
Stepdt  x* +y*i12y=5
Step2e %* +y*-124+36=51+36
Srep 3¢ (A-C)*+ (5~b)1= |
Center (0,0) ; r=1{41 units
b) X*+y*-4x%x-1=0
Stepae A*-HA +y*=|
Step2¢ A*Hx+d +y>=I1+4
Step3t (X-2)* +(y-0)*=5
Qeoter (2,0) 5 r={5 units
@) A+ Y -ex-8y=1=0
Steplt x-ex  +yBy= 4
Step2% X*-6x+9 +4y*-8y+lb=A+9+16
Stepse (x-3)*+ (y4-4)* =06
Cf_'nh:r (‘31"” ’ r=V26 units
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d) 2% +24*+16%-8y +19=0
Extra Step ¢ Divide eoch +erm by 2
'X1+311—8'X*"15+1;'T—=O
Stepd s A*+¥x  + y'-Hy= g
Step25s 'x"tﬁfx+lbi-32—‘-l\\j+4 =—13+1<o+'+
Step3s  (x+4)*+ (3-?_)1 —_0,_+-Q,D
(fx+4)"+(:j*:=)2 -—_9_+ L{o

(%+4)? +(3—9_)1 @_}2 “
2
= QD

(enter (-4,2) ; |

2

= I | unts
2
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e) 5‘11+33a"64:?(+483 +100=0
Kxte Step ¢ Divide each term by 3 .
- 2 _ . m:
A\ 1‘3.’1{1-165+ 2 O
Stepad: A% 12% +u*+loy = -100
e Y =

Step2? x*-12% +6c3+3‘+l63+6‘1' =100 +361 64

S
Step3s (%x-6)*+ (g+8)*= -100 +100
3 |
(x—6)* + Cy+R8) ™= ~100 +300
3 3
(X—6)*+ (3 +8)* = Qo0
N

(eoter (6,-8) 5 r*=900

F

=
= 100
'r:

le 2. Unts
3

G
s/

>
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10. "I"i-t}‘-e,-x_gs—@qgo
Stepis x6x +y*-8y =39
Step2° XA+ +y*>By+16=391+9T 16
Step3t (X-3) "+ (y-4)*= 4

a) Gervtec (3,4) d) Doercuin® {'x[—-fiifxf'll)'xaﬂ}

b)) radius @ r’-:ﬁ;
r= y ey
= gunﬁrs e)%ngce {5] H-35|z,3£s13
c) et
4
Y
4 . g . |
{(3:4)
<"°‘B"ﬁ-'¢l-:*ﬂlq,‘.‘b}1
> }
&
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IHa) x*+ y*=1 i)ﬁl&jurxﬂﬁts=10

L% 22
4 = = |4 units
&r O T
Tal=ln AS =
L }'{Or-;(onhl Ellipse ‘Yl =2(a)
= 2. umntS
a=b "
b=1 ) Verhces .
6,0) and (6,0)
fn'i) xX-ints =2 —b and 6
\r-.ni-s =y -land L
b) X* vy =1 V) or AMNS =20
T2 _53_ N D =20
~ 2 2 = — uni
(P2 t‘)‘? * Axi oy
inoT KIS =
Ly Vertical E)lipse a 2.0
= gumts
Q="
b=4% 1 )vertices.

Coy1) and (0, 1)

YiT) %x-ints=> -4 and Y
(\_j-\n‘\'5=? el | Clﬁd 1

21



) Q(_z_'f%i;l
(2)“ é—

L, Vertical Ejhpse-

a=3
b=2

1) rANSs =20
ey = 2(3)
=6 um¥s

(Y‘Lino'r Axis=12b
=0(2)
= 4 unl"l‘S

i) vertices
(0,-3) and (O, 3)

i) A-ints=>=2 and 2,
k\__))"lﬁ'\‘&, =-Dand 3

22



|2,

a) Mayor AKIS is 19 = 26=12
a=0b
Mivor AXIS Is 5 =r 2b=5
h=35
2
X Vertical
Extuah'ono x* 4+ ur =1
b* &2

23



b)» A-ints=> 117
- 5-m+s=>i'q-
T{;Lucﬁnonc? AL+ Y =4

(1* (@ 1
2+ O =
ha o

¢)POne vertex =(0,0)
Ly P@mcﬁnins vertex must be (;l(),O)

*Tr@re&are he major axis 18 20 units
L) 2a=20
a=10.

® Minor AXS =6
Ly, 2= )
b=3

Equatont X* + g* =1
Qo)*

P v Y
oo H

24



13a) 16(')(-1)"'1'12(8‘1-5)1='48
er— )* + w.cm::a)L

S’
(Z_L).l(_\:)_lll

Center (1, -3)
Since +hs e\hpse s verhical,y itis paralle |
40O the Y-ans-

b) 3(9(+H)“+‘=1(3—2)‘=27
Bx++)* + 9 —?_ *= 21
2 27
( >(+LD“' + Cg
CEW\*C\‘* (-4, ')_)

Since s e'.hpse.-.s nocvzonal i s paalle Lt Hhe
X-0%X1S.
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14 @) Gx*+ 25y*-36%-100y-89=0 X-ax(S-
Stepds Gu*-30x% +25y>100y =89
Extra Step e GUx™4%) +25( g %3)= g9
Step2t Q(x%=H4x+4)+ 15(3=-L|d+4) =8G+3+10
Step3e A (x-2)% 25 (3- 2)*=9905

Qx-2)*+ 25( Eé-z)‘r- 225
225 22 225
(A-=2)"+ (Y-2)*= 1
995 G

26



b) 2’)(“1—5\;2-1-209(-—6031—”15:0
Stepd e 2x*+20% +Sy*-80y=-75
ExtraStep: 2(x*+10%) +5(y*-6y)=-175

Step2s 2(%*+10%+25)+5( 3=ﬁ(03-+q)=-75+mm

Step3e 2(A+5)*+ S C3-3)"=:.>o

9—(?[!521 +5(u-3)*=90

(_)gl (g‘) ) _{QO
'X"I". B +- -:") 2 =
1O = :

27



1S, 959(=+I63*+I607<+323--i5q =
Step A2 ISAHISOX +lby 32y =159
ExtraStep? 25(%*+6x) + l6(y*+24) =159
Step 28 O5( X+ 6%+9) + l6(3*+:15+|)=159+225+m
Step 38 93(x+3)*+ I6(3+I)2'= 40O

3 (x+3)* + |(o§!!':tl)1 = 400
400 OO 500

( z|1(;,:2)2 + Ez-g)’*: A

a) Center (-3 1)
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b) (x+3)*+ (y+D*=1 C(-3,-1)
( (H4)* (S)?

vertices
(-3,-1-5) and (-3,-1+5)
-3,-6) and (-3,4)
Q) Major Axis= 2a Minor AXIS=2Db

=92(5) =2(H)
=10 unts =% unrts
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lo. 4™ Ay*~8x -S54y +49=0
Stepdt 4a*-8x +Ay>SHy =49
Exﬁq Strepe H(x>2x) + q(fjt_bﬂ) =-4q
Step 2t 4 (x*- 2%+ + 4 (Y* by +9)=-1a48|
Step3t 4 (x-1)"+ 4 (5-:5)2:3;_,
Hlx=)* + Alu-3)*= 36
‘ 36

A G
- 2 ( - 2.=
c:%u + “H;:)

Q) CGenter (A :’))

b) (x=D)*+ (u-3) =41
(3)° 2)
verhces (1- 3,3 2) and (1+3.3)

( J3) and (4,3)
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Q) Majer WXis= 2q
=20>)
= 6 units

noc AXis=2b
(Yt =2(2)
=Y units

31
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